7]EL0] O}= =0} HO{2.

You look really happy.

o|O|X| E3 S :Image Talk

Look at the image below. What is happening? Describe the situation using the key words.

Key Words

13} | 7|&20| OFF= £0} 204Q. You look really happy. 11




Co SHAL GHEA | Key Expressions

)

Read the key expressions out loud. Look at the example sentences, then make your

own sentences.

EHoi|

re:

ok
re
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ok
e
=2
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=2
0x
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20
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( ® =2 03| | vocabulary

Practice the key vocabulary for this lesson. Check each word once you are comfortable

with its usage.

Al 4z a4 7IE}
Exams Thoughts Feelings Others
=T T3 off&f 4t 2E
driver’s license expect scared shoe insole
271 Al AR AL} 21t
written test somehow burdened result
(AtZE52) Wt 2 =5I5ttt NES
attain (a certificate) less congratulate countryside / rural
ufo|g =
go (a cheer) air
C()Dk:
amount
A

12 EVERY DAY KOREAN $t=01 2&35|s} 3

B S FA(Q7], M2 S)0| LEF0H L0
2l 25 Rf2{M HO{Q. BH=0llM
AQE|9H= LI YWHOZ MAE SHRIR.

city

=
2 FAlm

£ S4j0] BHPY Al

= O



(@® olof7| BHAILH | Lers Taik:

®)

Practice the conversation with a partner. Make sure you can identify the key
expressions and vocabulary of this lesson.

22 A

Xl A

2N, 25 0 E2 LO| A0LK?
7]20] 0} Z0} H0IQ.

Lingling, did something good happen today?
You look really happy.

O= AML— [=I
oz 2xs 0| HotM 28 HE7I B HQIH=R.
Yeah, today | passed the written test for my driver's license in

one go. From now on, | will need to drive a lot that's why really
needed a driver's license.

oH Mt =552, @ 0| 710]| H|5HA
X|2e 1 H5|S U= 210| 22 04T A Zote.

Wow! Congratulations. Compared to the past it is a little harder to
get a driver’s license these days.

LA 28 2 B AlgE oldET o 0270 2.

There were many questions in the written test and the test was
harder than | expected.

Xz X0l 27| Aol M oTx A

CIN| AlHE 2HOF Sl .

| failed my written test last time, so | need to take the test again.
T 5 4 912 7ol Tjolg)

I'm sure you will do well! Good luck!
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Fill in the blanks using the patterns from the conversation.

£ 83510 4l 22 A9 HM2.

G EI = a |

INT
CEE = pask g ,
3 20 1012
@il - et ety
= o 20 ((o)
(ofle8Ch » 2 0to[7} _ 4 oiod 0\t
JRTITS P C et
STH » OlHRIo} | e 52871
)\\_%%\'—)F%« e 210t \?"0-_\“‘L
imgl\\?a\\i\i\k a0| 7 2042
B [e}

MEaliM 23S sl HML.

252 0= FroQ?
(CIE 2AD » 22| BlAk= CHE 2[A| BStA EZ0] B2 Holo|2.

AT MRFFIZ W SO F7HH HR?
B: G2 M) » 7 M7} 7|7HH AL,

B : (XI5HE) o B, X7t afed w7} Bote.

4|, Moil= 2 Yol 5k Holof|.

B:(3=) » U, X 80| o 2R

B: (M st7)) » OfL|Q, OfH sV|= H%{0] £X| L0tQ.
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Use the patterns and expressions learned to listen and respond accordingly.

| LIBS E EX FIHe| 2HS siLiE UZsI0{ M HAIL.
© L7t 3 o st o o ® gAlo| o] iR HCt
© A= AlZofHlsict o ° ® B2 Zp7HLIRR| YLt
© Lt= 2=ojof Bl3ict o 0 © 8=0{2 F3IC
O 11 Algke J1ZHo| Bl3ict o ° ® 27|17}t 2 Holct

LHZ & ==0f BI3HA £2 2P} LIQA| 2510

K|k AlRdoq| ( ) 47| EH7F HOPM AlZH0] 23401

€D -'oi= o] ZTHSICHEM 97 |2 W B 4 QA = Aol

SolR. 2

m}

T
Cho| 382

il
il

0] 2 SliM == 8iE 4 BiRloie.

-
ol

Q&A EALME ARE & & R0Q?
M2 M= 2JAFROfA ==0] == ZE 8l HoR?
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)

Work with a partner and practice the expressions below. Can you make a dialogue?

Role ®
SIEE 7 =¥

Role ®
124

Of2| SYE B0IA
D912 A7} DIsHT Yol
233 % 20| AR

Write it Down!

GBS

)

Using the expressions and vocabulary learned in this lesson, write your response on

the following topic.

Of|Z10f| HISHA] Bdxlie] &40] E749IL? O™ 0{21Z0] 4

CALLING

Before finishing, write down

3 things you can recall from this lesson.
Then, share with a partner.

7 5HH I HAQ.

BRI -

2=0lM=E 71'E S5 d2ish= AIRIS0| Eote
M 7|7HACED d26t= ARISE, 77t HE 4
U 7|=0| 22 AISHR. 014 L1 otof 'Eo1M
77t HNL. OFF 712 THE|,
10MIE| WEIEO'NR 2|21 7|7+ B40] HX|A| 5t=
=0 UEE LV|E 32 SA[ 02 E 27174
0= g2 7|7t 33, o= E2 7(7}
Afop HQICHH 0] 2 S ARgst
ex|E Z2tel

Aog, 23| 0[tE
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